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$ C�3 6�$/ 
$�� D��� ����*� '� 8�E� ?F� ��%��� "�$�
�G*� '(� '�

����� �� f(x) = 1− 2
ex+1

�	
 R ��
 �������� f ������� ������ ��
����� ����� ����� ���� �	� ����� �� ����� ��

�� y(0) = 6 ����  !��� y′ − 3y − 27 = 0 ����"#$%�� ���#���� &� �'
y(x) = 9ex − 3 �	� y(x) = 3x+2 − 3 �� y(x) = ex − 3 ��
��� B (���� )#�%�� * P (A ∪ B) = 0.35 � P (A) = 0.2 � +,�%�� +#-�� B � A �.
P (B) = 0.125 �	� P (B) = 0.1875 �� P (B) = 0.15 ��

Un =

∫ en+1

en

2

x
(1 + x)dx �	
 N ��
 ����� ����
 ���#%%� (Un) �/

0��S ���1 S = U0 + U1 + · · ·+ U36 �2"3
S = 1443 �	� S = 1444 �� S = 2022 ��

;<��� �=> �&����� '�
����
0f(x) = 2x√

x2 + 1
�	
 R ��
 ������� ������� ������ f .I

0#4%���56% )��� &�78 �9- * f ������ ����56% :��� ��
0f(x)− x = 0 ����#���� R �� &� �'

0f(x) ∈ [1;
√
3] � �+;� [1;

√
3] )#���� +� x &7 &�� +� <�3� +�5
 �.

0Un+1 = f(Un) �n ���
= ��
 &7 &�� +�� U0 = 1 	
 ������� ������� ���#%%��� (Un) .II

1 � Un �
√
3 �n ���
= ��
 &7 &�� +� <�3� +�5
 �� ��

0#4%5#43 ����� �>�#�%� #43� ?%3%�� �9- * (Un) ���#%%��� ��56% @#�%� :��� ��

0Vn =
(Un)

2

3− (Un)2
�n ���
= ��
 &7 &�� +� 2"3 �'

0)�A� #� ���� #4�#�� +55�% ��=� ����3� (Vn) ���#%%��� �+� +�5
 ��
0����� (Un) ��#43 ����� n ��B�
 Un ?%3%�� �9- * n ��B�
 Vn �%C� ��

S ′
n =

1

(U0)2
+

1

(U1)2
+· · ·+ 1

(Un)2
� Sn =

1

V0

+
1

V1

+· · ·+ 1

Vn

� S ′
n � Sn +5
������ n ��B�
 ���� �.
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&��% �D�7� 2� 91��� &��% �#D�7 2>�� � 0 �91��� +,��% +#%D�7 * :����#F #435
 G�$3 B �#D�7 8 ��
 G��3H  �%��

04 �91��� &��% �D�7� 1 �91���
0G��3H�� +� �#D�7 3 ���� +I ��� #�J��8
 ���3

�+5-���� �
%�3
0K6  �#�� #4�#1�� L���� �F������ �#D�C��K � A
K8  �#�� #4�#1�� M��� �F������ �#D�C��K �B

0�5%�%�� ��
 B � A +5-���� ��#�%�� P (B) * P (A) ���� ��
0N%
#�O ���
 0P+,�%�� B � A +5-���� &� * P (A ∩ B) ���� �'

0P (A ∩ B) �9- * PA(B) ?%3%�� �.
0�F������ �#D�C�� 9#1�� M��� ��� ����
 &7F ���5  !�� X �J��8��� ��56%��� +7�� �/
0�%#�"#D��� <��� E(X) ���� �9- * X �J��8��� ��56%��� )#�%�B� +�3#1 Q��
 ��

0P
(

X2−16
X

> 0
)
���� ��

;<��� �J> �@#�
�� '�
����
0f(x) = (1 + x)2

x
�	
 ]0; +∞[ ��
 �������� ������� ������ f

0(o;−→i ;−→j ) :3#�%���� ��#�%��� 9����� ��O ���3���  �%���� �� f ������ �3#�
�� &5-�%�� (Cf)

0#�3#�
 #45�
 &H�%��� ?J#%3�� ��� �9- * x→+∞
f(x) = 0 � �+� +�5>�

x
>−→0

f(x) ���� ��

0f ′(x) =
(1 + x)(1− x)

x2
�]0; +∞[ +� x ����� ��
 &7 &�� +� <�3� +�5
 �� �'

0#4%���56% )��� &�78 �9- * f ������ ��56% @#�%� ?%3%�� ��
01 ��H#$�� ��! �=�3�� �� (Cf) �3�3��� :#�� (T ) 9��%���� ���#�� �%C� �	�

0g(x) = 1− x+ x �	
 ]1; +∞[ ��
 �������� ������� ������ g �.
0]1; +∞[ )#���� ��
 g(x) E�#8O ?%3%��� * g ������ ��56% @#�%� :��� ��
01 + x+ x > 0 �]1; +∞[ +� x ����� ��
 &7 &�� +� <�3� � ��
 ��

0(T ) 9��%���� �F�3�#F (Cf) �3�3��� ���"� ?%3%�O �	�
0(T ) 9��%����� (Cf) �3�3��� R83� �/

0 x =
√
mx− 1 ����#���� )��� ��
 m 9�1 ��� #�3#�
 S1#3 * ���� ����� T��� m �U

0x = e � x = 1 * y = x �#4%B�#�� �%�� �#���%����� (Cf) �3�3��#F � ������ ��5��� ��#�� ���� �V
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���5 #�7 I = [1

2
; +∞[ )#���� ��
 �������� ������ f

 �%���� �� �3#�
�� #4�5-�% (Cf) � f(x) =
3x− 1

2x
9��%�� (Δ) � (o;−→i ;−→j ):3#�%�� ��#�%� 9��� ��O ���3���

; ?������ ?4��� &3 ��4> 0y = x ���#���� �!
&�� +�� U0 = 2 )�B� #� ���F ������� ������� ���#%%��� (Un)

0Un+1 = f(Un) �n ���
= ��
 &7

&H��$�� ���� ��
 �#�� +�� �&-� *&
#���� &78�� &�3� ��
0M#83W� X�=Y ���
� U3 � U2 * U1 * U0 ������

0#4>�#�%� (Un) ���#%%��� ��56% @#�%� +��Y �'

0Un > 1 �n ���
= ��
 &7 &�� +� <�3� 2���%�#F +��
 �.
0P?%3%�% �!#� * (Un) ���#%%��� ��56% @#�%� :��� �/

0Un+1 − 1 � 1
2
(Un − 1) �n ���
= ��
 &7 &�� +� <�3� �+5
 �� �U

0(Un) ���#%%��� ��#43 ?%3%�� �9- * Un − 1 �
(
1
2

)n �n ���
= ��
 &7 &�� +� <�3� ?%3%�� ��
0Vn =

Un−1
2Un−1

� 	
 N ��
 ������ ����
 ���#%%� (Vn) �V

0) ��A� #����� #4�#�� +55�% ��=� ����3� (Vn) ���#%%��� �+� �+5
 ��
0n ��B�
 Un E�#F
 �%C� ��

0Sn =
V0−1

U0
+ V1−1

U1
+ · · · · · ·+ Vn−1

Un
�(5�F Sn L������ n ��B�
 ���� �	�

;<��� �=> �&����� '�
����
�?(����� @� A B

$ C�3 6�$/ 
$�� D��� ����*� '� 8�E� ?F� ��%��� "�$�
�G*� '(� '�

�<%��#�� +∞ ����
 &J#� ��#�� 9��%�� &
�� g(x) = 3x+
e−x − 2

e−x − 1
�	
 R∗ ��
 ������� f ������ �3�3� ��

y = 3x+ 2 �	� y = 3x+ 1 �� y = 3x ��

x �→ x2

2

[
x− 1

2

]
������� +� #��
 * λ > 1 (5� A(λ) =

∫ λ

1

x xdx ������� ����� �
%�3 �'

��� A(λ) = 1

4
#4��� +� �%�� λ ���1 * x �→ x x ������ ���H� ����

λ = 2e �	� λ =
√
e �� λ = e−1 ��

�#�� R �� +,� &
�% (11x2 − 6x+ 5) = (x2) + 1 ����#���� �.
S = {−1;−5} �	� S = {1; 5} �� S = {1;−5} ��

���#%%� �� Un = 2− 3

(
1

4

)n

�	
 N ��
 ������� (Un) ������� ���#%%��� �/

�F5%� ���� �	� #�#�% �H1#3%� �� #�#�% E�5��%� ��
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0K ���� K &�#��� 9435
 +� * )#�� 12� M#�3 8 943� &�#
 20 #��5�� ���#%3O E���

���%Z� (������ +� (�� &7 )#�%�� ���� * 0)#�
 �-,- +� �$�[� �3�� &578% )#���� �D�5 ��
0K E���O &1A� ��
 9"% �3����K �C 0K E���O �-CA� ��
 9"% �3���� K �B 0KM#�3 �3���� M#"
� K �A

0#45� +5������� )#���� ��
 * ��78� �3�� &7F ���5  !�� X �J��8��� ��56%��� �
%�3 �'
0�%#�"#D��� <��� E(X) ���� �9- * X �J��8��� ��56%��� )#�%�� +�3#1 +�5
 ��

0P (X2 − 2X � 0) ���� ��
� ��%Z� (������ +� (�� &7 )#�%�� ���� * �%#7 � �J#3 *:�J� +� �$�[� �3�� &578% )#���� �D�5 �.

0K :3��� :$3 +� �3���� �J#3� :�J� K �E 0K )#���� +� �3���� :�J�K �D
0K �3���� �� ����� K ���� K &�#���K �F

;<��� �J> �@#�
�� '�
����
0g(x) = (2x+ 1)e−x + 1 �	
 R ��
 ������� g ������ �
%�3 .I

0+∞ � −∞ �3
 g ������ �%5#43 ���� ��
0#4%���56% )��� &�78 �9- * g ������ ��56% @#�%� :��� �'

0]− 0.74;−0.73[ )#���� �� α ��5�� ,� &
�% g(x) = 0 ���#���� �+� +�5
 �� �.
0R ��
 g(x) E�#8O ?%3%�� ��

0f(x) = (−2x− 3)e−x + x ���5 #�7 R ��
 ������� ������� ������ f .II

(o;
−→
i ;

−→
j ) :3#�%���� ��#�%��� 9����� ��O ���3���  �%���� �� �3#�
�� #4�5-�% (Cf)

0+∞ � −∞ �3
 f ������ �%5#43 ���� ��
0+∞ ����
 (Cf) �3�3��� &J#� ��#�� y = x <%��#��  !�� (Δ) 9��%���� �+� +�5
 �� �'

0(Δ) 9��%���� �F�3�#F (Cf) �3�3��� ���"� :��� ��
0f ′(x) = g(x) �x ����� ��
 &7 &�� +� <�3� +�5
 �� �.
0#4%���56% )��� &�78 �9- * f ������ ��56% @#�%� ?%3%�� ��

0� 10−2 ��O ?J#%3�� ���% \ 0f(α) ����� ��H� +�5
 �9- * f(α) = α + 1 +
2

2α + 1
� �+� +�5
 �/

0#455-���O +55�% ��=� ω Q#=�3O �=�3 &
�� (Cf) �3�3��� �+� +�5
 �U
0� f(1.4) ≈ 0 � f(−1.65) ≈ 0 �=��\ 0(Cf) � (Δ) +� �,7 R83� �V

0h(x) = (−2x−3)e−x ������ ���H� ����H(x) = (ax+b)e−x ������ +�C% ��%� b � a +5����� +�5
 �� �]
+5!��� +5���%����� (Δ) 9��%���� � (Cf) �3�3��#F � ������  �%���� +� ��5��� A(λ) ��#���� ���� ��

0�#�#�% ���� ����� ��
 λ (5�\ x = λ � x = 0 #�45%��#��
0
λ→+∞

A(λ) ����� �	�
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